
 

The issue with the previous graph 
was that the scaling was shifting in 
a way that made each minor change 
look exponentially bigger than it 
really was, and that each figure was 
a lot larger than the scale really 
was. 

The issue with the previous graph 
was that not only was it a pie chart, 
it was a 3D pie chart and lastly there 
was no scaling on it to see what 
each of the percentages were. 

The biggest issue with the 
previous graph was that it 
was dual axis and that the 
scaling started not at 0. 


